ZOO 106 MED-II Pool MC Question, Dr. Haffor
1.  
Chromatin is
A.  
condensed to form centromeres.
B.  
DNA double helix.
C.  
DNA single helix.
D.  
RNA double helix.
Answer:B
2.  
Synthesis of DNA
A.  
occurs during prophase.
B.  
occurs during anaphase.
C.  
occurs during interphase.
D.  
occurs during all stages of meiosis.
Answer:C
3.  
Which represents the correct sequence of stages in the cell cycle?
A.  
G1, G2, S, M
B.  
G1, G2, M, S
C.  
M, S, G1, G2
D.  
G1, S, G2, M
Answer:D
4.  
Crossing-over occurs during
A.  
metaphase I.
B.  
metaphase II.
C.  
prophase I.
D.  
prophase II.
Answer:C
5.  
During meosis, the homologous chromosomes will move away from each other in.
A.  
prophase
B.  
anaphase I
C.  
anaphase II
D.  
metaphase I
Answer:B
6.  
Meiosis differs from mitosis in that
A.  
it occurs only in the reproductive tissues that produce gametes.
B.  
the chromosomes are duplicated twice.
C.  
the resulting cells are polyploid.
D.  
the chromosome pairs do not separate.
Answer:A
7.  
Mendel's law of segregation implies that the two members of an allelic pair
A.  
are distributed to separate gametes.
B.  
are distributed to the same gamete.
C.  
are assorted dependently.
D.  
are segregated pairwise.
Answer:A
8.  
Which of the following is represented by word appearance, such as black and tall?
A.  
phenotype
B.  
genotype
C.  
alleles
D.  
homozygous
Answer:A
9.  
In a Mendelian monohybrid cross, the ____ generation is always completely heterozygous.
A.  
F1
B.  
F2
C.  
F3
D.  
P

Answe:A
10.  
In which kind of cross would you expect to find a ratio of 9:3:3:1 among the F2 offspring?
A.  
monohybrid cross
B.  
dihybrid cross
C.  
test cross
D.  
none of the above

Answer:B
11.  
Down syndrome
A.  
is due to disjunction of chromosomes.
B.  
individuals have two number-21 chromosomes.
C.  
may occur at a lower rate in women over 40.
D.  
can occur if the sperm has an extra number-21 chromosome.
Answer:D
12.  
The loss of a portion of a chromosome is termed
A.  
inversion
B.  
translocation
C.  
deletion
D.  
duplication
Answer:C
13.  
If a person has a XXY genotype, they are classified as having
A.  
Down syndrome.
B.  
cri du chat syndrome.
C.  
Turner syndrome.
D.  
Klinefelter syndrome.
Answer:D
14.  
Which of the following conditions is NOT due to a sex-linked gene?
A.  
color blindness
B.  
hemophilia
C.  
muscular dystrophy
D.  
Klinefelter syndrome

Answer:D
15.  
A colorblind (recessive trait) woman will pass the allele to
A.  
her sons only.
B.  
all her children.
C.  
her daughters only.
D.  
none of her children.
Answer:B
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